
John Deere 9935-CP770 Pro Suction Door Parts

50-4

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023



Item Part OEMPart DescQty

John Deere 9935-CP770 Pro Suction Door Parts 50-4

SUCTION DOOR - OFFSET RIGHT 11" - INCLUDES ITEMS #13 THRU #18                        

(USE ON ROW: #2 ON 6 ROW,  #1 ON 4 ROW: 30" PRO-16 SKIP-ROW SETUP)   

(FITS: P-12 OR P-16)

AN276846768461.1 1

SKIP ROW SUCTION DOOR - #76846 OFFSET TO THE LEFT 11" - INCLUDES ITEMS 

#13 THRU #18

<-----OEM76846-SR1.2 1

SUCTION DOOR - OFFSET TO THE LEFT 5" (9986-CP690) : REPLACES #AN273412 

(9976) - INCLUDES ITEMS #13 THRU #18

AN276688766882.1 1

SKIP ROW SUCTION DOOR - #76688 OFFSET TO THE RIGHT 5" - INCLUDES ITEMS 

#13 THRU #18

AN27510076688-SR2.2 1

SHORT SUCTION DOOR (W/ BRACKET ON SIDES FOR 30-32" ROWS) - (9986-CP690) 

: REPLACES #AN272788 (9935, 9970-9976) - INCLUDES ITEMS #13 THRU #18 (10.5" 

VERTICAL OPENING)

AN27760777607-B3 1

SHORT SUCTION DOOR - (9986-CP690) : REPLACES #AN272788 (9935, 9970-9976) - 

INCLUDES ITEMS #13 THRU #18 (10.5" VERTICAL OPENING)

AN277607776074 1

STRAIGHT SUCTION DOOR - (9986-CP690) : REPLACES #AN272892 (9935, 9970-

9976) - INCLUDES ITEMS #13 THRU #18

AN276679766795 1

SUCTION DOOR - BENT TO THE LEFT - PRO 16 - INCLUDES ITEMS #13 THRU #18  

(9986-CP690)

AN277961779616.1 1

SKIP ROW SUCTION DOOR - #77961 BENT TO THE RIGHT - INCLUDES ITEMS #13 

THRU #18

<-----OEM77961-SR6.2 1

ANGLE - PRO SUCTION DOORN378691786917 1

NUT - M10 - SERR HEX FLANGEE6352663526P8 1

BOLT - M10 X 20 ROUND HEAD - SQR NECK03M719007190P9 1

AIR DUCT TRANSITION OUTERAN2722367223610 1

AIR DUCT TRANSITION - BENT TO THE LEFTAN2722397223911.1 1

SKIP ROW AIR DUCT TRANSITION - #72239 BENT TO THE RIGHT<-----OEM72239-SR11.2 1

BOLT - M10 X 40 ROUND HEAD - SQR NECK03M719407194P12 1

PIN - SUCTION DOOR ( 9935-CP690 IN-LINE & PRO )N1971959719513 1

PIN - 3/32 X 3/4 COTTER PIN11H20600206P14 2

NUT - 1/4 - SERR HEX FLANGEN1021710217P15 1

LATCH - SUCTION DOOR (IN-LINE & PRO)AN1940909409016 1

SERVICE DOOR (9935-CP690) IN-LINE & PRON1991319913117.1 1

- ANTI PLUG - SERVICE DOOR (9935-CP690) IN-LINE & PRO - TAB TO PREVENT 

COTTON FROM GETTING CAUGHT IN HINGE

AP99131AP9913117.2 1

BOLT - 1/4 X 1/2" CARRIAGE BOLT03H189301893P18 1

POST - INNER SHORT SUCTION DOOR SUPPORTAN2728937289319 1

PIVOT ASSEMBLY - TELESCOPING DUCT (9970-CP690)AN2768227682220 1

STRAP - DUCT REINFORCEMENT (9970-CP690)N3718267182621 1

STRAP - PIVOT - TELESCOPING DUCT (9970-CP690)N2737827378222 1

BOLT - M8 X 20 ROUND HEAD - SHORT SQR NECK03M718407184P23 1

NUT - M8 - SERR HEX FLANGEE6352563525P24 1

BUSHING - SUCTION DOOR CONNECTIONH1404664046625 1

WASHER - .410 X 1.5 X .120"24H173001730P26 1

PLATE - SIDE PIVOT PIN BRACKET- USED W/ SUCTION DOORS: 77607-B & KK24326AN2734397343927 1

CHANNEL - SIDE BRACKET - USED W/ SUCTION DOORS: 77607-B & KK24326N2794407944028 1

PLATE - SIDE OFFSET SUPPORT - USED W/ SUCTION DOORS: 77607-B & KK24326N1988869888629 1

PLATE - BACK BRACKET- USED W/ SUCTION DOORS: 77607-B & KK24326N1972649726430 1

BOLT  - M10 X 20 - SERR HEX FLANGE - GD 8N27562075620P31 1

PIN - SPRING LOCK PINJ1693116931P32 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2023


